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A business purchased a machine for £40000 on 1 January 2004.

The machine was depreciated at the rate of 30% per annum using the reducing-
balance method.

The machine was sold on 31 December 2006 for £7750.

What was the profit or loss on disposal?

A £3750 loss
B £3750 profit
C £5970 loss
D £5970 profit

Mua enyeipnon oyopace Eva unyavnua yio £40000 v 1" Iavovapiov 2004.
To punydvnuo arooBéotmie pe tocootd 30% etoimg pe v eBivovsa pébodo.
To pnyévnuo movARdnke v 31" Aekepppiov 2006 yio £7750.

[Towo frav 10 képdoc N N N amd TV TOANGT (TOV UNYXAVAIATOC);

A £3750 {nud
B £3750 képdog
r £5970 {nud
A £5970 képdog

On 1 January 2006, Robert’s business assets were valued at £36000 and his
liabilities amounted to £2000.

On 31 December 2006 Robert’s assets amounted to £57000 and included his
private car which he had brought into the business on 1 November 2006 when it
was valued at £9000.

His creditors at 31 December 2006 totalled £17000 and his drawings during the
year totalled £17000.

What was Robert’s profit for the year ended 31 December 2006?

A £6000

B £14000
C £24000
D £33000



Tnv 1" Tavovapiov 2006 ta evepyntikd otoryeio e emyeipnong tov Robert
a&lov £36000 ko ta TadnTIKd otoyyeio avépyovtav og £2000.

Tnv 31" AekepBpiov 2006 ta neprovotakd (evepyntikd) otoryeio avépyovioav oe
£57000, copmepthapfavoprévon TOL 1B1MTIKOD TOV GUTOKLVATOL TOV TOPUYDPTCEV
otV emnyeipnon mv 1" NoguBpiov 2006 dtav 1 a&io tov frav £9000.

O mototég tov TV 31" AgkepuBpiov 2006 avépyovav og £17000 ko ot
ATOAYELS TOV KOTd TN dtdpKeln Tov Etoug avépyovtav o€ £17000.

IToo ftav to kéPSog Tov Robert yio To étog mov knye v 31" Agkepfpiov 2006;

A £6000

B £14000
r £24000
A £33000

On 1 October 2005 Jackson’s debtors amounted to £7440. Of this amount £384 is
known to be bad.

In the year to 30 September 2006 he received £61080 from debtors. His debtors
at 30 September 2006 were £8163.

How much were Jackson’s sales for the year ended 30 September 20067

A £60741
B £61419
C £61803
D £62187

Tnv 1" OktoBpiov 2005 o1 ypedotec Tov Jackson avépyoviay og £7440. Amd 10
1060 avTd £384 NTav ava&lOYPEOL YPEDCTES.

210 étog mov Ayet 30 XentepPpiov 2006 soénpate £61080 and ypedotec. O
ypemoteg Tov TNV 30" Zentepufpiov 2006 Nrav £8163.

[T6ceg frav o1 tmAfoelg Tov Jackson yio to étog mov Afyel tnv 30" Zerntepfpiov
2006;

A £60741
B £61419
r £61803
A £62187




The following information relates to a Club for a year.

Number of members 60
Annual Subscription £20
Subscriptions owing at beginning of year £100
Subscriptions owing at end of year £60

How much should be credited to the Club’s Income and Expenditure Account for
annual Subscriptions for the year?

A £1100
B £1160
C £1200
D £1260

Ot o kGt TAnpoopieg apopodv o Aéoyn yio éva £Tog.

Ap1Buo6g pehav 60
Emoia cuvopoun £20
O@eldpeVEG GUVOPOUES BTNV OPYT] TOV £TOVG £100
OpelLopeveg GLVOPOUEC 6TO TELOG TOV £TOVG £60

Me 11 1066 Ba motwhel 0 Loyoplacudg 600wV Kot e£0dmV TG Aéoymg Yo Tig
ETNO1EG GLUVOPOUES TOV ETOVG;

A £1100
B £1160
r £1200
A £1260

Goods are transferred from the Manufacturing Account to the Trading Account at
factory cost of production plus a mark-up of 20%.

The transfer prices of the closing stocks of finished goods were as follows:

Year 1 £39600

Year 2 £42000

Year 3 £45600

What was the provision for unrealised Profit charged against the profit for the
year 3?7

A £400
B £600
C £720
D £1200



Ta éroya mpoidvia petapépovtor omd 1o Aoyapracud [Hapaymyng oto
Aoyapraocud ExpetdAlevong o TYEG EpYO0TACIAKOD KOGTOVS GLV VoL TEPODPLO
képoovg 20%.

Ot TYég HETAPOPAS TOV TEMK®MV OmoBEUATOV TV ETOIUOV TPOTOVTOV NTOV OL

ekne:

‘Etog 1 £39600
‘Etog 2 £42000
‘Etog 3 £45600

[Towa YTy  TPOPAEYN Yia TO Un TpayLATOTOMOEV KEPOOG e TNV oToia
emPapuvOnke 10 KEPSOG Tov 30V £T0VG;

A £400
B £600
r £720
A £1200

A and B are partners sharing profits and losses in the ratio of 1:2. They admit C
as a partner and revise the profit-sharing ratio to: A 2/5, B 2/5, C 1/5.

Goodwill is valued at £60000, but no Goodwill is to be recorded in the books.
Which entries will be made in the partners’ Capital Accounts?

Capital A Capital B Capital C
A Debit £4000 Credit £16000 Debit £12000
B Credit £24000 Credit £24000 Debit £48000
C  Credit £4000  Debit £16000 Credit £12000
D  Debit £24000 Debit £24000 Credit £48000

O A xot o B givat cuvétaipot mov potpalovton ta k€pdn Kot tig Inég pe
avoroyio 1:2.

Amodéytrov 10 C 0g vEo GLUVETALPO KOl avafe®pnoay TNV avaA0Yiol GUUUETONNG
ota k€pom oe: A 2/5, B 2/5 xon C 1/5.

H onun kot medateio extipnnke og £60000, odAd dev Ba KataywpnOei ota
hoylotikd Bipia o¢ erjun ko tedateio.

[Moteg eyypaég Ba mpémet va yivovv otovg Aoyopracpovs Keporaiov tov
etaipav;

Kepdrao A Kepdrowo B Kepdrao C
Xpéwon £4000 [Tioctwon £16000  Xpéwon £12000

Tliotwon £24000  Iiotwon £24000  Xpéwon £48000
Tictoon £4000  Xpéwon £16000  IMictwon £12000
Xpéwon £24000  Xpéowon £24000  Iictwon £48000
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K & L are in partnership sharing profits and losses in the ratio of 3:2.

They admit M as a partner on 1 January.

On the same date the partnership net assets are revalued and show a loss on
revaluation of £40000.

The new profit/loss —sharing ratio is: K 2/5, L 2/5, M 1/5.

How will the revaluation of the net assets be recorded in the Partners’ Capital
Accounts?

Capital K Capital L Capital M
Credit £16000 Credit £16000 Credit £8000
Debit £16000 Debit £16000 Debit £8000

Credit £24000 Credit £16000
Debit £24000  Debit £16000

oaQw»

O K ka1 o L gtvan ouvétanpot mov popalovror Ta kEpOM kot Tig (nég pe
avaioyia 3:2.

Amodéymrkav 10 M wg véo cuvétaipo v 1 lavovapiov. Ztnv 1d1o nuepounvia
emovekTiunOnke 1 kabopn teplovoia g etapiog kot £de1Eev Inpid
enavektipnong £40000.

To véo m0600T6 cuppeToyNg ota KEPOT Kot Tig {nuég eivan: K 2/5, L 2/5, M 1/5.
[Tog n emavektipmon g Kabapng Ieprovoiog Ba katoympnbei otouvg
Aoyapracpovg Kepalaiov tov etaipov;

Kepdraro K Kepdrawo L Kepdroo M
[Tiotwon £16000  Iliotwon £16000  Ilictwon £8000

Xpéwon £16000  Xpéwon £16000  Xpéwon £8000
[Tiotwon £24000 Ilictwon £16000
Xpéwon £24000  Xpéwon £16000

> 1w >

On 6 April 2004 a company paid a final dividend of £7000 in respect of its
financial year ended 31 December 2003.

On 1 October paid an interim dividend of £5000 in respect of the year ending 31
December 2004.

The balance sheet as at 31 December 2004 included a current liability of £10000
for dividends payable.

How much has been debited for dividends in the Profit and Loss Account for the
year ended 31 December 20047

A £12000
B £15000
C £17000
D £22000



2115 6 Ampidiov 2004 pa petoyikn etoupio KatéPare telmio pépropa £7000 yo
10 owovopkd £€1og mov €Anée 31 Askepppiov 2003.

Tnv 1 OxtoBpiov katéfare mpopépiopa £5000 yio To £T0¢ TOL Arfjyet 31
Agxepppiov 2004.

O wworoyiopog v 31 Aexepuppiov 2004 neprddpPave oto Ppayvmpddecuo
nantikd £10000 yuo pepiopato TAnpotéa.

T1 o606 ypemdnke yio pepicpato 610 Aoyoplacud ATOTEAEGUATOV, Y10 TN
ypovid mov €Anée 31 Askepppiov 2004;

A £12000
B £15000
r £17000
A £22000

The following are extracts from a Company’s Balance Sheet.

Fixed Assets: Freehold Premises at cost £400000
Provision for depreciation of Freehold premises £160000

Share Capital and Reserves: £
Ordinary shares of £1 500000
8% Preference shares of £1 100000
Share premium 80000
Retained Profit 40000

720000

It has been decided to revalue the freehold premises to £500000.
What will be the Balance Sheet value of the ordinary shares after the revaluation?

A £1,44
B £1,64
C £1,76
D £1,96



9.

To mapokdrto eivon ototyeio Tov TPOoKHITOVV ATd TOV [ICOAOYIGUO HOG PETOYIKNG
gtoupiog:

Iy Xtovyeia:

IaokTnTOr Akivita og Tiun k6otovg £400000
[Ipo6Preyn yo amdsPeon IodkTov Axivitov £160000

Metoyiko Keodraro ko Artobspatikd: £

Kowég petoyéc g £1 500000
8% Ilpovopovyeg petoyes g £1 100000
AmoBgpotico ‘Exdoong petoymv

vIép TO APTIO 80000
Adwavéunta Képon 40000

720000

Amogaciotke 1 enavektiunon tov Idoktmtov Akivitev og £500000.
[Towa Ba eivor n a&io IGoAoYIGHOD TV KOOV LETOYMV HETE TNV EXAVEKTIUNON;

A

B
r
A

£1,44
£1,64
£1,76
£1,96

10.

10.

A shareholder sold 1000 ordinary shares of £1 for £1500.
What effect will this have on the share Capital of the company?

A
B
C
D

It will decrease by £1000
It will decrease by £1500
It will increase by £1500
It will remain uncharged

"Evag péroyog movinoe 1000 kowvég petoyés e £1 yuo £1500.
T enidopaon Oa Exel n TPAEN ALT TAVEO GTO PETOYIKO KEPAAOLO TNG ETOPING;

A
B
r
A

Oa perwbet kata £1000
Oa pewwbet katd £1500
Oa avénbet xotda £1500
Oa mopapeivel apeTaPANTO




11. A company has an authorised share capital of £1000000.
The company has issued 800000 ordinary shares of £1 at £1,20 per share.
It pays £48000 as dividend on the ordinary shares.
What was the rate of the dividend?
A 4%
B 4,8%
C 5%
D 6%
1. Mo petoyikn etaipio £yl eykeKpUEVO petoyiko keedioto £1000000.
H petoywn etanpia éxet exdmaet 800000 kowég petoyég g £1 mpog £1,20 v
KaBepid.
KoatéBare £48000 g pépiopa Tpog TIC KOWES PLETOYES.
[1660 rav 10 M0c06Td pepicpaTod;
A 4%
B 4,8%
r 5%
A 6%
12. The following information relates to a hardware merchant, who makes all

purchases on credit.

at 31 Dec. 2006 at 31 Dec. 2005

Stock £10600 £10300
Debtors 5400 4800
Creditors 5900 6300
Transactions during 2006:

Amount received from debtors £127600
Amount paid to creditors 93120
Cash sales 23200
Discount allowed to debtors 2400
Bad debts written off 800
Increase in provision for doubtful debts 250

The gross profit earned by the merchant during 2006 was:

A £38820
B £38870
C £61750
D £62180



12. To axdlovBa otoryeio avapépoviar 6~ Eva épumopo cvokevdv H/Y, o omoiog
dlevepyel OAEG TIG AyOpéG TOV LE ToTMON:

31 Aek. 2006 31 Aek. 2005

Amdbepa £10600 £10300
XpedoTeg 5400 4800
[Motwtég 5900 6300
2vvolayég katd n duipketa 2006:

Eonpdelg amd ypedoteg £127600
[TAinpopég Tpog motwTtég 93120
[ewAnoeig petpntoic 23200
Exntdoeig yopnynOeioec mpog ypedoteg 2400
ATOAEIEG YPEMCTOV S0y POPEITES 800
AvENON TPOPAEYNC Y1 EMGPOAELS YPEDOTES 250

To pKtd k€POOGg TOV TPAYUATOTOINGE 0 EUTOPOS KOTA TN dtdpkela Tov 2006

nrav:
A £38820
B £38870
r £61750
A £62180
13. A club which has fifty members charges an annual membership subscription of
£20.

At the beginning of the year, five members had paid their subscription in advance
and four were in arrears with their subscriptions.

At the end of the year, three members were in arrears with their subscription and
two members had paid the following year’s subscription.

The club’s subscription income for the year was:

A £960

B £1000
C £1020
D £1040

13. M Aéoym €xet 50 pédn ko emPapovvel kaOBe péLog pe etota cuvopoun £20.
2V apyn ToL £T0VG, 5 HEAN TPOTANP®CAY TIG GLVOPOUEG TOVS Kol 4 HEAN
KoOLGTEPOVV TIG TANPOUEG TOVG.

210 TEAOG TOL £T0VG, 3 HEAT KOBVGTEPOVV TIC GLVOPOUES TOVG Kot 2 LEAN
TPOTANPOGAV TIG CUVOPOLES TOVG Y10, TO ETOUEVO £TOG.
Ta 6000 ™G AéoyNg amd GLVOPOUES Y10 TO £TOC NTAV:



A £960

B £1000
r £1020
A £1040

14.

14.

When preparing a manufacturing account, a distinction is made between direct

costs and indirect costs.
Categorise each of the following items as either direct or indirect costs and choose
the option A, B, C, or D which correctly categorises all four items.

Item 1: Royalties payable relating to the production process in use.

Item 2: The cost of acquiring raw materials.

Item 3: Wages paid to production line operations in respect of the current
accounting period.

Item 4: Reward of a production supervisor.
Item 1 Item 2 Item 3 Item 4

A Direct Direct Direct Direct

B Indirect Direct Direct Direct

C Indirect Direct Direct Indirect

D Direct Direct Direct Indirect

Ortav cvvtdooetan éva Aoyaplacpdg [opaymyng, yivetor dtdkpion petald
AUECOV KOl EPUECOV KOGTMV.

Noa ta&wvopnoete kdbe Evo amd To TOPAKAT® KOVOLALL HETAED QUECHV KoL
EupEcmV KOGT®V, Ko vo emiécete To ocuvovacud A, B, I' 1 A otov omoio
ta&wvopovviot opOd Kot to 4 KOVOLALA.

KovooAl 11 Awcoudpoto eKHETAALELONG TANPOTED, Yio TN 6 eEEMEN
TOPALYDYY).

KovovAr 2:  Kdo10¢ 0mdKTnong TpdTtmv VAMV.

Kovdom 3:  Tlapaymyd nuepopicOia mAnpmbévta yia to tpéyov AoyloTikd
étoc.

Kovdoam 4:  Apopn evog embempnti Topoyoyng.

Kovov 1 Kovovi 2 Kovov 3 Kovova 4

A Apeco Apeco Apeco Apeco

B ‘Eppeco Apeco Apeco Apeco

r ‘Eppeco Apeco Apeco ‘Eppeco

A Apeco Apeco Apeco ‘Eppeco
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15. A firm depreciates its productive plant and equipment at the rate of 10% per
annum, using the reducing balance method.
It is the firm’s policy to charge a full year’s depreciation on fixed assets in the
year in which they are acquired.
Given the above, what is the depreciation charge, to the nearest pound, to be
shown in the 2004 accounts in relation to an item of plant, with no residual value,
acquired in 2000 for £100007?
A £591
B £656
C £729
D £1000

15. Mua emiyeipnon amocsPEVEL TIg TOPAYMYIKES TNG EYKATAGTACEL Kot EE0TAMGUO pe
1060010 10% etoing, epapuolovrtag ) edivovoa pébodo.
[ToAtwen g emyeipnong eivor va emPopdvel yio kaOe mdylo ototyeio e TANpovg
£t0Vg amocPeon yia To £€T0g 610 0moio ayopdleTat.
Me Bdon ta tponyoldpeva , Tolo gival To oG amdcPeonc e TO 0moio
emPopdveral, KoTd Tpoceyyion Mpag, Kot TPETEL VO ELPAVIGTEL GTOVG
Aoyapracpots tov 2004, éva LEPOG EYKATACTAGEWMV, XOPIG VITOAEUpTIKN aia,
mov amoktOnkev to 2000 yio £10000;
A £591
B £656
r £729
A £1000

16. Tom and Cherry formed a partnership.

In addition to investing £15000, Tom transferred ownership of a building, which
had cost him £45000, to the partnership. At the time of the transfer, the market
value of the building was £60000.

The mortgage of £35000 on the building was taken over by the partnership.

The amount to be recorded in Tom’s Capital Account is:

A £25000
B £40000
C £60000
D £75000

11



16.

O Tom ka1 o Cherry 1dpvoav £va cuVETAIPIGUO.

Emmpdcbeta g enévovong twv £15000, o Tom petafiface oty etoupio tnv
KupLodtnTa VOGS 0KV TOV, TO 0Toio Tov KOoTice £45000. Katd t otryun g
uetafipaong, n ayopaia a&io Tov akwnitov frav £60000.

To evurdOnio davero twv £35000 eni Tov akiviiTov T0 avérafe 1 eToupio.

To 1066 mov Ba kataywpnbei oo Aoyaplacud Kepaiaiov tov Tom givat:

A £25000
B £40000
r £60000
A £75000

17.

17.

John earns as annual income of £19500 from a photography business which he
runs. He has capital of £35000 invested in this business.

If he ceased running his own business and worked as an employee in another
photographic business he would earn a salary of £11000 per annum. If he could
invest his capital elsewhere in a project with the same degree of risk as his own
business he could expect a return of 6,5% per annum.

If goodwill in this type of firm is valued at five years’ purchase of super-profits,
the goodwill of John’s business is:

A £31125
B £37500
C £40225
D £42500

O John kepdiletl éva eoto eteodnua £19500 amd pior poOTOYPAPIKY ETLYEIPNON
nov &yel. To kepdAaio mov Eyel emevovoel otny entyeipnon avt eivar £35000.

Av d1axoyeL TN Asttovpyia TG OIKNG TOL EmyeipnoNg Ko apyioel va epydleTon ¢

VIAAANAOG G€ o GAAN eOTOYpOEIKY emtyeipnon Ba maipver pioBo £11000 to
YPOVO. AV emevOVGEL KO TO KEPAANLO TOV G £VO OTOLOVONTTOTE TPOYPOLLLLLO TOV
id1ov Pabpov KvdHvov Ba Tpocdokd (avapével), amddoon 6,5% emnoing.

Av 1 eMun ko tedateion 6’ avtdV TOV TOTO EMyEipnong, vToloyileTol pe TNV
ayopd 5 etdv vepKeEPIDV, TOTE M PYUN Ko Telateio TG emyeipnong tov John
gtvo:

A £31125
B £37500
r £40225
A £42500

12



18. In the absence of a partnership agreement, which one of the following

contravenes the provisions of the partnership Act 1890?

A No partner is entitled to a salary

B Profits and losses are to be shared in proportion to capital
C Partners are not entitled to receive interest on their capital.
D Interest is not to be charged on Partners’ drawings.

18. 2V TEPINTOOT TOV €V GLVTAGGETOL KATAGTATIKO Yo TNV {OpLom Hog
TPOGMTIKNG £TOLPLOG, TOL0 OO TO TOPOUKAT® EVOVTIOVETAL GTIG TPOVOLEG TOL
Noépov tov tpocomK®V etapiav tov 1890;

A Kavévag cvvétaipog dev dukatovton picho

B Ta képdN ko ot {npuég popalovor Kot avaroyio Tov Kepaioimv

r O1 ovvétaipot dev dtkatovvtal va AABovy TOKO TAV® 6To KEPAANLO TOVG
A Agv emPBapivovTol pe TOKO 0l ATOANYELS TOV CLVETAIP®V

19. In a limited company which of the following are shown in the Appropriation

Account?
@) Debenture interest
(i) Proposed dividend
(ii1)  Transfers to reserves
(iv)  Directors’ remuneration
A (i) and (ii)
B (i) and (iii)
C (1) and (iv)
D (i1) and (iv)
19. g o petoykn etaupia, oo amd ta mopakdto epeovifetar oto Aoyaplocoud

AwdBeong Kepdov;

(1) Téxog oporoylakov doveiov

(i1) [Ipotevopevo pépiopa

(iii))  Merapopég ota amobepaTikd

(iv)  Apoipn perdv dotkntikov cupfovAiov

(1) ko (ii)

(i1) xou (ii1)
(1) xou (iv)
(>i1) xou (iv)

>
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20. A company wishes to pay all available profits as dividends. Net profit is £30200.
There are 20000 8% preference shares of £2 each, and 50000 ordinary shares of
£1 each.
£5000 is to be transferred to General Reserve, and £2000 to write off Goodwill.
What ordinary dividends are to be paid, in percentage terms?

A 40%
B 20%
C 10%
D 60%

20. Mo petoykn etoupia embopet va kotafdiet Oha ta Stabécio KEPOT G

pepiopota. To kaBapod képdog givor £30200.
Ynrdpyovv 20000 8% mpovopovyes petoyés tov £2 1 kabepid, kot S0000 kowvég
petoyés g £1 n kabepud.
£5000 Ba tpémer va petapepbodv oto I'evikd AmoBepatikd, kot £2000 yio
Swypaen g Prung xon I[elateiag.
T1 mocootd pepiopatog Ba mpémet va kataPfAnbel Tpog TIC KOwES HETOYES;
A 40%
B 20%
r 10%
A 60%
21. A Club’s records provide the following information for a year:

£
Annual Subscriptions received in the year 4000
Annual Subscriptions received in advance at end of year 50
Balance of Life Subscriptions A/c at beginning of year 500
Life Subscriptions received during the year 100

The Club’s policy is to credit Life Subscriptions to the Income and Expenditure
A/C over five years.

How much should be credited to the Income and Expenditure A/C for
subscriptions for the year?

A £4050
B £4070
C £4150
D £4170

14



21. Ot katoympnoels oto PpAio pag AEoyne mopEyovy Tig TaPUKAT® TANPOPOPiEg
Yo €val £T0G:
£
Emoteg ovvopopéc etonpaybeioeg 6’ éva £tog 4000
Emoteg ouvdpopég stonpaybeioeg 1o T€A0G TOL £T0VG TPOKATUPOALK 50
Ynorowmo Aoyoplacuod [6o6imv Zuvdopoudv otny apyn Tov £Tovg 500
Io6Bieg Zuvdpopég etompaybeices katd T ddpKeLn TO £TOVG 100
[ToAtkn g Aéoyng ivat vo TotdvovTot ot IoOPleg GuVOPOUES 6TO Aoyaplocpod
Ecodmv xaw EE0dmV xatd ) didpkela S5 eTdV.
Me oo moc6 Ba mpénetl va motwbel o Aoyaproopuog Ecodwv kot EE6dmv ya tig
GULVOPOLES TOV £TOVG;
A £4050
B £4070
r £4150
A £4170
22. A manufacturing company adds a factory profit of 25% to its cost of production.

The following information is available:

£
Stock of finished goods at 1 April 2003
(per Balance sheet at that date) 30000
Cost of goods produced
(per Manufacturing A/C for the year ended 31 March 2004) 300000
Closing stock of finished goods
(per Trading A/c for the year end 31 March 2004) 60000

How much will be credited as factory profit in the Profit and Loss A/C for the
year ended 31 March 2004?

A £67500
B £69000
C £70500
D £71500
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22.

M Bropmyoavikn etoupio emPopivel pe kEPOOG TapaymyNng 25% 1o KOGTOG

TOPAYOYNC.
[Tapéyovtor ta Tapakdto ctoryeio:

AndBepa etoipmv mpoidvimv v 1 Anptiiov 2003
(Zoueowva pe tov Icohoylopd g nuepounviag ovTng) 30000

Kootog mapayféviov npoidoviov (cOhppova pe 10 A/opo
TaPOy®yNG Tov £€T0vg Tov Afyet 31 Maptiov 2004) 300000

Tehkod AmoBepa etoipwv Tpoidvtev (chpeova pe 1o A/oud
ExpetdAievong yia to €tog mov Anyet 31 Maptiov 2004) 60000

[Too 1066 Ba mpénet va motwbel wg kEPdog mapaywyns oto Aoyapacud
Amotelespatwv yio to £10¢ Tov Anyet 31 Maptiov 2004;

A £67500
B £69000
r £70500
A £71500

23.

23.

Any loss on revaluation is:

A credited to old partners in old profit-sharing ratios
B credited to new partners in new Profit-sharing ratios
C Debited to old partners n old profit-sharing ratios
D Debited to new partners in new profit-sharing ratios

Kabe {nuid emavektipnong:

[Tiot®vetal oTovg TaAL0VG ETAIPOVG LLE TNV TOALA OVOAOYIO KEPODV
[MoTdveTOl GTOVG VEOLS ETAIPOVG LE TV VEN AVAAOYIN KEPODV
XPEDVETOL GTOVG TAALOVE ETALPOVG UE TNV TAALL avOLOYio KEPOIDV
Xpe®dVETOL GTOVG VEOLS ETAIPOVG E TN VEQ aVaA0Yio KEPODV

> w >

24.

“‘Receipts and Payments A/c’’ is an account

which is accompanied by a Balance Sheet

in which the profit is calculated

in which the opening and closing cash balances are shown

in which the surplus of income over expenditure is calculated

oQwy

16



24, O ““Alopodg Eronpa&emv kot [TAnpoudv’’ etval o Aoyoaplacuog

A oL GVVodELETAL OO Tov IcoAoyIoUd

B 0TOV 0moio vrroAoyiletal To KEPSOG

r OV OElYVEL TO OPYIKO Kol TO TEMKO VTOAOITO PETPTOV

A 0TOV 01010 VTOAOYILETL TO TAEOVAGHLO TOV EGOOWV EVAVTL TOV ££00MV
25. The plant and machinery at cost account of a business for the year ended 30 June

2006 was as follows:

Plant and Machinery - cost

2005

1 July Balance

2006

£

240000

1 Jan Cash-Purchase of plant 160000

400000

£
2005
30 Sept Transfer Disposal A/c 60000
2006
30 June Balance 340000

400000

The company’s policy is to charge depreciation at 20% per year on the straight-
line basis, with proportionate depreciation in the years of purchase and disposal.

What should be the depreciation charge for the year ended 30 June 2006?

oaQwy

£68000
£64000
£61000
£55000
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25. O Aoyapuacudg Eykataotdoelg kor Mnyovipoto o€ KOGTOG, HOG ENLYEIpNONG Y10
10 ét0g ov Anpyet 30 Tovviov 2006 €xel og e&€ng:

A/opdg Eykoatactaceic & Mnyovipata - K66T0g

£ £
2005 2005
1 TovAiov Ymorowmo 240000 | 30 Zert. Metapopd-A/opog Arabeong 60000
2006 2006
1 Tav. Metpntd-Ayopd Eyxat. 160000 | 30 Iovviov Yndrouro 340000
400000 400000

[ToMtikn ™¢ etanpiog etvon va emiPapoverl amdcPeon 20% emncimg pe v gubeia
nébodo, pe kat' avoroyio andofeon yuo Ta £Tn ayopds kot otdbeong.

[Toto elvar to T0oc6 andSPeomng mov Ba emPapvvoei 1o £tog mov Anyetl 30 lovviov

2006;

A £68000
B £64000
r £61000
A £55000

Good Success
KoAn Emtoyia
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